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rn1a .J 1'8mc1dh cf3dJ6J Jt!i! liJruOrr»Jm1<Scgc1Mrmcf3 
• ml~31"9::ls crul2la»mm>lm nJJO<Zl2l 15 2lknlq • <&luil 630nD @@so' ~6Tlsoa»1©1c96)6o. 
• 'ce:.;u5 63Jn.D @@so' <Z.!1.JOBJi6l313UO nJ0l.1..l'..Il)6l<:½:JSOm6o g2mml©6l313u8 ~CTUlL(ID6TDo 6l.!1.JCBJOffiJo 

~nJa :QJO(f)1c0Sl6 <&. 
• ml0<1,3(.1()6lffi(fo 12l),\P), rucm Lcro®onJ;<'BqJo nDa»lc96)6TDo. 
• g20m06lffiu8 nm\PJa»J<ma»lm 12l),ffiJ (1.1JJBJi6ID3u8 L(fc)®Oo..JJ©(11o QJO(D)le96>6TDo. 
• cB,6TT)c86) cB,J§eJJ<&u8, .!1.JlLa»6lmu8, LOOOnOJcB,UO nmcmlrn ~©TO)«)(llnJ~olroB (ID6)(TT) ~Gra0ct»lmlc86>6TDO 
• 0.!1.JOBJi6lmu3 12leJWO~mmlleJ6o mroBca,l<D>l§JGra. 
• ~ ru cro ~ 12lJ2ill auoeiaoo'> m)l2lQJOca, J 6!Jl3u3 @ca,os J <B6>6TDo. 
• <1Vi..l0C(f)012lJcfuu8 6>.!1.JCBJOffiO<&O©TO) c0,:)~c96)),<Ze.l$?0J<&u8 @\Pl6l<&CDJ),2ill 63©), @eJcfu<ZLS06TDlcfu 

~n.Jcfu06ffiOJ),o nJ0"1<fh'l:j0nD0~1ro3 g2o..JG'..IlJJ(f)lcB6>6ruocm n.JOS1~. 
General Instructions to Candidates: 
• There is a 'Cool off time' of 15 minutes in addition to the writing time. 
• Use the 'Cool off time' to get familiar with questions and to plan your answers, 
• Read the instructions carefully 
• Read questions carefully before ans\.\ ering 
• Calculations, figures and graphs should be shown in the answer sheet itself. 
• ivlalayalam version of the questions is also pro,·ided. 
• Give equations wherever necessary. 
• Electronic devices except non-programmable calculators are not allowed in the examination hall. 

Answer all questions from question numbers 1 
to 6. Each carry one score . . 

(Score : 1 x 6 =6) 

1. The ability to know how others look at us and 
the ability to look at yourself from outside. 

la) Selfrealization (b) selfanalysis (c) seffre­
flexivity ( d) self assessment. 

2. Identify the science which scientifically Study on 
population 

(a) Sociology (b) Psychology (c)Demography 
(d)History 

3. Choose the correct sex ratio in India based on 
2011 census 

(a)934 (b)940 (c)927 (d)933 

1 I.Bil®<lm 6 OJlt)©(D)lU nm'iP. CruOC3lDID3<t3c96>lo 

a}<ml»©01D'9l<IDlA• li30C©O(ll)1CDlo li3©l <rocAO© oflano 

(cruCAO©: 1 X 6 = 6) 

1. 

2. 

3. 

12l$n~rncil ml2l2l6>~ n©67m@m ru'lcB>'11lc06)6cml 

@rucm;io nJJO<lll2l mlcm;io m)J<D>o ru'lcB>'111c06)6cm 

cm1m6~ ca,wlal. 

(nm) CTUJ<D>o cml<1>l-9!10l<D>co8 (mll) <roJ<D>o ml® 

<8>eJ(Oo ( m)l) CTUJWo LnJ<IDln.oeimo ( Ml) m)J 

wo rulei<D>1ro6mmlro3. 

~O)(T\)o6lJ~<D><B6>J01~ nJOl.OOJ cm ®O<TUL<ID®O 

6lJ<D>J6lS CllnJ© 

(n©) m)f2lJnD®O<TUL<IDo (mH) 12lm: ®O<TUL<IDo 

( crul) mmm)o6lJ_\O ®O<TUL<IDo ( Ml) .!1.J©lL<IDo 

2011-@eJ ca,oCllmn!l:1612l0©1 LnJca,oroo m<m>Ji<D>l@ei 

cro©l<D>O<D> eilocnomi nJO<IDo 6l<ID©6>610lmSJ6lmml 

!PJ<IDJ<fb. 

(nm) 934 (6Tlll) 940 (m)l) 927 (Ml) 933 
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4. Name the founder ofSatya shodhak Samaj 4. ,, 

(a)Ayyankali (b)J.GP~ (c)RajaramMohan 
Roy ( d) E.V. Ramasami Naicker 

5. Name the person who coined the word 'Invisible 
hand'. 

.. / 
(a) Karl Marx (b) Hegels (c) Adatn Smith 
(d) Auguste Comte 

5. 

(~) am~crnc0:,0~1 ( m.il) @@;l.~1. nD,@ei ( cro1) 

©OSilOOOo a0on.0CTB (}():)(DJ ( cw1) 2Q.OJ1. (1)00 

cro100l moCDJcB@r5. 

"amr3~(R)e)cS,Do .. ~cm n.Jr3o ©,n.flc0:,©1~ ru.,1ice<ml 

w6@s an.Jc5 . 

( ~) c0:, o o (135 ,K.l (5 ca; :ni ( 60.Jl ) 6l nD@ (f) ro8 <TIJ 

(cro1) ~-'.U:•orn)Ziloo (cw1) ffiTcl(f)~ acfhoog 

6. In 1882, Tarabhai Shinde published a book 6· 

knownas 

1s82- ro8 rn J ,,) o 6TlJ o ::u: 1 rill 1 cw@cw ln.J crol ru.J°I c0:, 

ml~ n.J2 m:::.ma,cmml@~ an.Jen. 

7. 

a 

b 

C 

(a) Stree Purush Toiana (b) Sultana's Dream 
( c) Padmarag ( d) Invisible Man. 

Match the following (Score : 5 X 1 =5) 

A B C 

Personal Oldo/ €,,. U ttarpradeshl) 
Troubles \ 

., 

Population I Political Younger 1:..., 

' power \ 

Dominant Cas~ ljlighest ~ . Patrilocal ~ 
·. filrth rate \ 

d Marriage._ c:~cial I M N S · · fP ~ J... .. nmva 
issues (.; / 

e Generation gat:1 Matrilo~· ----c_. Wright Mill?° 

Answer all questions from question numben 8 
to 13. Each carries two score. 

(Score : 2 x 6 =12) 

8. Distinguish between social map and geographical 
map. 

9. Define the term globalisation. 

10. Explain the term prejudice. 

11. Describe the term cultural diversity. 

12. Define sanskritisation. 

13 Short note on Demographic Dividend. 

7. 

(~) m::,um1 ,'Lf;a,6rill cm6e.im (mfl) cro6ro8 

cmmom•w;i@s m.JJci.Jmo ( crol) n.JBr:1lC1lO(J) 

(cw1) CT1Y3;'.fll2, -z,m;~.'i~-

c.i.1aij-~~sl ciJ-5ch,.)c:➔.• 

(,nCd,)/1 : 5 X 1 = 5) 

A B C 

nID (l].)ic0(0)1 cl'LIJ::O:·LJ1l.".l.llt 1 ·~'A"1X)_,-:.J(l.(3,J') 

LnJ<JOm6GB<J3 

! 

mll Si!ITT<T\lo6l..l.)i C1l ~lr>9g1 :n: u3 dC5l l ~~0.;.~d"Jl·);5 

crul Ll'Ll6Tlle.J s.o@l ~('Q)(O(TT) l'Lllcm~cmoom1wo 

mmm ml©.oo 

CUJl rulruoru10 <T\l'.l2l; ru1 la, raj)o.raj)cm. 

'l..! J5 rn6m u8 J11>'1mlruoJ\3 

@ rmei!Zl;o 11.lls'.11 · oo@~ mlllomi<lllo I ffill. 6l0)? 0lro8m: 

8 IDl<IDtlrn 13 Cl.J6l~(Q)6~ ~~p G~:JB16lm{l3c86)lo 

a2<M0)(!)6llD~6@~ca,. 5DC(!):JCID1m6o <l>~ <TIJC.a.::>ro 

ru1croo 

( (l'\)Gdl>:::>ro: 2 X 6 = 12) 

8. croOilllC'l.D~ 1sln.JSOJ6o 1slr:1l1(R)O<TIJl(ID lsln.JSQJ),o 
<ml2l2llro8 arur5<0>lml@~\P6<m6cfh. 

9. ~<Ji(.f)O~OJ<mcfh©6Tl)o ny)(Tl) n.Jr3o rn7c8ru .!l .. 11 

c96lJcS,. 

10. 06cmrulwl ~cm n.JBo OJ1(R)800c96l6c0:,. 

11. crooom5c0:,oa,lc0:, 6l6lC1.JOJ1W~o ~cm n.Jr3o rulru 

©1c96l),dh. 

12. croo<TIJ<fl>~<mru<m.a,m6TTio mlc8ru.ci.JlcB@6c0:,. 

13. !Qrncrooru.,1ion..1m00CQJ e.101srulru11®6lml'IDc96l6o7 

~ 6>.ci.Joleo> .a,6o1ij ®eo>oooc96l6c0:,. 
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Answer any four questions from question 
numbers U to 18. Each carries four score. 

(Score: 4 x 4 =16) 

14. Write an ru1icle about the role of colonial rule 
and changes brought to India by British. 

15. Prepare a five minutes speech on social 
exclusion. 

16. Illustrate secularism with suitable examples. 

I 7. L'ntouchabi lity is an Indian phenomenon: do you 
agree with the statement. Explain your views. 

18. Examine the views of Marx on capitalism. 

Answer any three questions from numbers 19 to 
22. Each carries five score. 

(Score: 5 x 3 =15) 

l 9. Globalisation is a word \Vhich is considered to 

be tbe increasing extension and integration of 
market~ around the \Yorld. Prepare a seminar 
paper fo-:using the merits and demerits of 
globalisation. 

20. Patterns of unequal access to social resources 
are commonly called social in~guality. List any 
three examples of social inequality and explain. 

21 . Prepare an article related to the struggle for 
women's equality and rights in India. 

22. "Is regionalism a hurdle for national integration". 
Explain your views. 

Answer any three questions from question 
numbers 23 to 26. Each carries six score. 

(Score: 6 x 3 =18) 

23. List and evaluate the major difference between 
nuc \ear and extended family. 

14 LDl (l)l@3 18 ru 6l© cni;i ~ c .!lJ :J <3 J om ~1<03 n(8 fil (l)l 

19,1010 moea n(j)om(l)ll))1m ~@m)(l)6)(Dl91(lj)1.a.. 63:JC(l):J 

cmlm6o m:>ea m)C&:Ji'.3 ru1(l})o 

14. 

15. 

16. 

17. 

18. 

( cruc.a.:J© : 4 X 4 = 16) 

~om.\ wl@e.i l6Tl.fl\fln'l1 a:c0:,o~ml ruo<JS .!l..l@wc006 
ol~,16 a m (TI)).\ cm m.i mi n0 amnl m8 cru ~ n,igl -?.21 mo g 
613l36>@c00),01-?.,d6o 6301, (JleJ6l.J(l)o (O)~OOOcOOJc&. 

cruo mi n01c& 6llJ n.n 1n'l1ce,06ffi@crmnc006 ol ~ ram6mi:i 

r:1llm1g mi6fls6 mlm8c006<m 63CO!, Ln.JCYUo(J)o 

@~OOOcOOJdh. 

r:1lCIDm1©(Jln.Jt9-,'lj@6)Wc06) 6 ol~ ramm6 ClllDlOSi!_\QlOW 

~Bon00smo mro-Bce,7 ru1CR>Br:1lOc£l6JJc&. 

rammJn.J~CR>.\@ 63co6 2J2CTl)).\® Lf'.u@l1socrumo6T'T). 

g12rn Ln.JmJ@oruma:wos m161mu8 a:wos;ilc006 
cm6a:6Tlso. m16l3l3~66>s c&OW.!l.J<;½:jOS rulru©lc006c&. 

r:1lJ an e.io~lcrmn6>crmnc66) 6 ol ~ 0oc8c& cru16><,;q ruitMj 

6TT)61ffi(JO n.JC01CllCR>OW1~ ruleJwlcoi,amnJc&. 

19 LDl(0)©3 22 (lJ(i)(OCDJ:l~ C.!1..IOCJ~m3~1<03 n(86><ID 

8hl0ao in2cm n(i)6m<IDID1m ~<lm))(l)li)Jll\Pl®lc9>. 63:JC(l)() 

cmlmio ~6IDi' cruc.e,om ru1@o 
( (ll)Cdb:J© : 5 X 3 = 15) 

1 9. CBlg) (Jl en O § QJ ® cOO © 6ll)o nu) <m Q.JO iB6) ClleJ Oc& o 

0 6w6rucm rum®l-?.21.l ru©6on ruln.J6mlc&~6@s ~B 
'"[J) LO m (Jl cmm w 6 o ru .\ o n.1 m a: crmn w 6 o (T\) l .!1..11 <;½:Jl 

c00 6 cm 6. ~ (Jl en o ~ ru «n c00 © 6m crmnl @<i;q (J) 6 6m 

613l3@!,o CllBOcill6ITl3§Jo rulru01~ 63©6 6)<lU01moctl 

<lin.J<;½:j© (0)~0 00 cOOJ ce,, 

20. (l'\)00JnD.\ ru1@ru6cm§6@s @),eJ.\0~oamn rul@ 

co 6TTJ ru 6 o e.i@ .\@ w J 12l o 6T'T) cru o 04 n01 ca, ram m.i 0 

(O)J o. n(B 6) <ITH6, 1 eJJ o Clll (TT) ~BO nD (l) 6TT) 61313 u8 nu) 

!96an1 (ru012l4n.n7ce, ramcrul2l@Jo ru1(R)Br:!l0c06)Jcfh. 

21. mJL@1 m.ll2l@Jamn1m6o ramrucfhO(R)61ffiUO Cllmsl 

@CQ)S6c06)6<m@1m6o ~(TI)).\Wlro-8 ms<m a:n.Jo©o 

§613l36>§c06)J01~ 63CO), <lie.161.Jffio @~OOOc:06)),cfh. 

22. "Ln.JOCllBCR>lcfhOJOBo <liBCR>1W@m><B6) 63©6 @S 

q;ldr:!lOCll6TT)0". m16m3§J6>S cfh0'9.!l...l\l:JOSJcS,UO rulru 

colc006ce,. 

23 i:n;icm~ 26 OJ5>roCDJ6~ C.!1..13CJ~m3~1<03 mlcm6o n(8 

6) cm Rh 1 e.ii, o in2 cm <'>(I) 6m CMIDl m ~ COlID ro i>l ID 'f,f@ :i c9,. 63 () 

C(l):J(ll)lmi,o ~() cruCcfb:Jc3 ru1cmo 
( cruc.a.om : 6 x 3 = 18) 

23. tmc,6TT)6ce,6s 606llJOJ60 rulmJ<ID~<ID cfh1,S1,06lll0.J60 <ID 

12l2ll e.i6~ Ln.J wo m ru .\<ID.\ o m.i 6m3u8 n.J§lce, <ID 

~oooc001 rule.icnfl<l>J©IIDJc&. 
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24. Write a note on Right to Information Act 2005 
and explain its merits. 

25. "Pushkar Camel fair is an example for 
commodification". Evaluate your views 
substantiating the statement. 

26. Evaluate the mainstream attitude towards tribes 
inindia. 

Answer any one question from question numbers 
27 to 28. Each carries eight score. 

(Score : 8 x 1 =8) 

24. 

25. 

26. 

a.i]QJ(l)()Qjc:9,()(/() m1COH2lo 2005-6)ffic66),J01~ 630,l 

c0, ,i ol \lJ @ CD> o o o d36l1 Cl) 6 6TTl 6Bl3@ ~c66) J ol ~ rul (/() 
B 1 c0, col c66) 6 c0,. 

" n.JJ n9:1 c9, m 63 § c6, (] 12l§ .!1.l (1)c66) ,i ru cm c9, ro 6TTl©lID7@1 
nfilQCil~o m~ g2BOn.O(l)6TTJl2l06m". 8!2'!> lnJ(ru(O)() 

rum@COJ cruowic0,ail~ m16Bl3~n@s c9,o~.!1.l<;½:JOS 

rul e.iCOJ1m6 ©lIDJcEh. 
g:gcimJ/DJl@B (](J)0l®6Bl36)~c66)J01~6~ 12lJ6lJJiWO 
mo ru1 ahl'.i GTTJ 6ID3 u5 rul eJ m>l ro 6 ©lID 6 cEh. 

21 in6 ®am 2s (lj6)(1)(ll)l~ c<tJ00Jiom!f!1ma m1(ll}10 

<">{115>aM& 1 E.Jlo lil 6l© ~cmmlm ~(1)1l))©6llDCJll ani.a.. 
63()(Z(1)()ClDlffi,lo "{i)~ cruc.a.oro ofla»o 

( cruc.a.oc3 : 8 X 1 = 8) 

2 7. "The prediction based on Malthusian theory of 27. 

population has been proved to be false". Explain 
"CllO<OSarn», crulwcro mmauo6lJJiO aulru:>OOIDarn»l 
6>0R lnJOJ.!1.lm6lmu8 @«»gow1ro6cm66>rucm @«» 
@1<D>lc£16)6><;½j3l3lri". aulaooOIDo ruluo0ic0,©l.!1.1 
JlJ n.10osa<n>6><;½jSOml~ 60©61T)67mu8 rul0<3uo 

the theory and critically examine the reasons for 
its failure. 

28. List and explain the major challenges faced by 20. 

Indian Democracy and federalism. 

' mo<lri21dbCllO<n>1 ru1ru©1c£16)l6. 

aQOIDJi® mmow1nJ«nJiru6o 6>nOcwo<OS auorul 
womru6o c:mmlsicm LnJWOm 6>ru~irul~lc0,6>~ 
c£16)lo1~ 6306 n.131c0, «»~oooc£16)1 ruluo0ic0,rol 
c£16)lc0,· Hints : Communalism 

Minority Issues 

Casteism 

au2.!1.!m: ru<3~iw<m 
m JilOlnJ.eal Ln.JOOm6m3u8 
mom>iw<m 
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